JS≣

CURRENCY DERIVATIVES

CURRENCY FUTURES AND OPTIONS MATCHED TRADES

REPORT FOR 30/07/2015

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06

VAT number: 4080119391

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
8:12:24	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	12.5820		314,550.00 Client	Buy
8:12:24	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	12.5820		(314,550.00) Member	Sell
8:17:09	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	12.5875		2,517,500.00 Client	Buy
8:17:09	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	12.5875		(2,517,500.00) Member	Sell
8:21:17	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.6890		1,268,900.00 Member	Buy
8:28:08	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.6180		(1,261,800.00) Member	Sell
9:00:23	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	12.9632		(324,080.00) Client	Sell
9:00:23	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	12.8955		64,477.50 Member	Buy
9:04:43	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	12.7033		(63,516.50) Client	Sell
9:04:43	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	12.7033		63,516.50 Member	Buy
9:06:45	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	12.9033		64,516.50 Member	Buy
9:07:50	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7064		635,320.00 Member	Buy
9:07:50	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7064		(635,320.00) Client	Sell
9:08:08	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	35	35,000	12.7034		444,619.00 Member	Buy
9:08:08	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	35	35,000	12.7034		(444,619.00) Client	Sell
9:10:04	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	12.7200		(254,400.00) Client	Sell
9:10:04	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	12.7200		254,400.00 Member	Buy
9:10:04	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	12.7201		63,600.50 Member	Buy

Page 1 of 15 2015/07/30, 07:17:19PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:10:04	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	12.7201		(63,600.50) Client	Sell
9:10:12	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	12.7212		(9,540,900.00) Member	Sell
9:10:12	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	12.7212		9,540,900.00 Member	Buy
9:10:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	12.9262		(9,694,650.00) Member	Sell
9:10:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	12.9262		9,694,650.00 Member	Buy
9:11:03	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.7299		25,459.80 Member	Buy
9:11:03	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.7299		(25,459.80) Client	Sell
9:11:48	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7344		127,344.00 Client	Buy
9:11:48	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7344		(127,344.00) Member	Sell
9:12:43	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7280		127,280.00 Client	Buy
9:12:43	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7280		(127,280.00) Member	Sell
9:13:28	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7253		(636,265.00) Client	Sell
9:13:28	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7253		636,265.00 Member	Buy
9:16:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.9240		1,292,400.00 Member	Buy
9:16:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.9240		(1,292,400.00) Client	Sell
9:16:15	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7227		(636,135.00) Member	Sell
9:16:15	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7227		636,135.00 Member	Buy
9:17:52	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.6890		(1,268,900.00) Client	Sell
9:17:58	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.6180		1,261,800.00 Client	Buy
9:23:01	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.7242		(6,362,100.00) Member	Sell
9:23:01	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.7242		6,362,100.00 Member	Buy
9:25:41	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.7167		11,445,030.00 Member	Buy
9:25:41	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.7167		(11,445,030.00) Member	Sell
9:26:10	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.7177		1,271,770.00 Member	Buy
9:26:10	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.7177		(1,271,770.00) Member	Sell
9:27:35	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	32	32,000	12.7124		(406,796.80) Client	Sell
9:27:35	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	32	32,000	12.7124		406,796.80 Member	Buy
9:32:49	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7280		636,400.00 Member	Buy
9:32:49	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7280		(636,400.00) Client	Sell
9:37:31	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7492		(127,492.00) Member	Sell
9:38:55	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7492		127,492.00 Client	Buy
9:48:34	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	12.9300		9,697,500.00 Member	Buy
9:48:34	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	12.9300		(9,697,500.00) Member	Sell
9:49:14	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.7277		11,454,930.00 Member	Buy
9:49:14	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.7277		(11,454,930.00) Member	Sell
9:53:40	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.7306		11,457,540.00 Member	Buy
9:53:40	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.7306		(11,457,540.00) Member	Sell
9:53:55	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.7386		25,477.20 Client	Buy
9:53:55	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.7386		(25,477.20) Member	Sell
9:54:48	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	5,000	5,000,000	12.7419		(63,709,500.00) Member	Sell
9:54:48	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	12.7419		(25,483,800.00) Member	Sell
9:55:20	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7343		(127,343.00) Member	Sell
9:55:20	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7343		127,343.00 Member	Buy

Page 2 of 15 2015/07/30, 07:17:19PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:55:53	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7318		127,318.00 Member	Buy
9:55:53	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7318		(127,318.00) Member	Sell
10:03:24	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	5,000	5,000,000	12.7419		63,709,500.00 Client	Buy
10:04:21	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	12.7419		25,483,800.00 Client	Buy
10:25:45	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	12.7385		(12,738,500.00) Client	Sell
10:25:45	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	12.7385		12,738,500.00 Member	Buy
10:25:45	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	12.7385		3,184,625.00 Member	Buy
10:25:45	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	12.7385		(3,184,625.00) Client	Sell
10:37:13	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.7144		(25,428.80) Client	Sell
10:37:13	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.7144		25,428.80 Member	Buy
10:41:26	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	12.7217		254,434.00 Client	Buy
10:41:26	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	12.7217		(254,434.00) Member	Sell
10:51:55	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	12.7256		381,768.00 Member	Buy
10:51:55	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	12.7256		(381,768.00) Client	Sell
10:53:16	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	12.7325		381,975.00 Member	Buy
10:53:16	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	12.7325		(381,975.00) Client	Sell
11:07:32	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	12.7258		254,516.00 Member	Buy
11:22:07	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.7311		11,457,990.00 Member	Buy
11:22:08	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.7311		(11,457,990.00) Member	Sell
11:23:20	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.7383		11,464,470.00 Member	Buy
11:23:20	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.7383		(11,464,470.00) Member	Sell
11:25:30	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	12.7419		(9,556,425.00) Member	Sell
11:25:30	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	12.7419		9,556,425.00 Member	Buy
11:25:30	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	12.9453		(9,708,975.00) Member	Sell
11:25:30	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	12.9453		9,708,975.00 Member	Buy
11:26:53	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7460		(637,300.00) Client	Sell
11:26:53	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7460		637,300.00 Member	Buy
11:27:08	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7500		(637,500.00) Client	Sell
11:27:08	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7500		637,500.00 Member	Buy
11:27:10	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	12.7500		191,250.00 Member	Buy
11:27:10	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	12.7500		(191,250.00) Client	Sell
11:27:50	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7465		127,465.00 Member	Buy
11:28:06	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7258		(127,258.00) Client	Sell
11:28:06	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7258		(127,258.00) Client	Sell
11:28:13	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7465		(127,465.00) Client	Sell
11:28:17	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.7498		(6,374,900.00) Member	Sell
11:28:17	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.7498		6,374,900.00 Member	Buy
11:30:27	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	12.7475		3,186,875.00 Member	Buy
11:30:27	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	12.7475		(12,747,500.00) Client	Sell
11:30:27	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	12.7475		12,747,500.00 Member	Buy
11:31:38	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	12.7475		(3,186,875.00) Client	Sell
11:32:43	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	12.7600		382,800.00 Member	Buy
11:32:43	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	12.7600		(382,800.00) Client	Sell

Page 3 of 15 2015/07/30, 07:17:19PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
11:33:07	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	4	4,000	12.7596		(51,038.40) Member	Sell
11:33:07	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	4	4,000	12.7596		51,038.40 Client	Buy
11:38:17	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	12.7700		(638,500.00) Client	Sell
11:38:17	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	12.7700		638,500.00 Member	Buy
11:41:52	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.7793		(6,389,650.00) Member	Sell
11:41:52	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	400	400,000	12.7800		(5,112,000.00) Member	Sell
11:41:52	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.7793		6,389,650.00 Member	Buy
11:41:52	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	400	400,000	12.7800		5,112,000.00 Member	Buy
11:42:01	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.7761		63,880.50 Member	Buy
11:42:43	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.7761		(63,880.50) Client	Sell
11:43:23	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.7800		127,800.00 Member	Buy
11:43:23	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.7800		(127,800.00) Client	Sell
11:46:44	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	12.7533		(63,766,500.00) Member	Sell
11:46:51	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.7810		6,390,500.00 Member	Buy
11:46:51	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.7810		(6,390,500.00) Member	Sell
11:46:54	\$ / R 11/12/2015	Foreign Exchange Future	С	12.57	1	1,000	10,000	10,000,000	622.0000		6,220,000,000.00 Member	Buy
11:46:55	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.7810		6,390,500.00 Member	Buy
11:46:55	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.7810		(6,390,500.00) Member	Sell
11:47:13	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	2,000	2,000,000	12.7533		(25,506,600.00) Member	Sell
11:48:01	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.7743		1,277,430.00 Member	Buy
11:48:01	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.7743		(1,277,430.00) Member	Sell
11:48:36	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.7661		(1,276,610.00) Member	Sell
11:48:36	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.7661		1,276,610.00 Member	Buy
11:51:27	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	12.7533		63,766,500.00 Client	Buy
11:51:29	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.7676		(127,676.00) Member	Sell
11:51:29	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.7676		127,676.00 Member	Buy
11:57:49	\$ / R 11/12/2015	Foreign Exchange Future	С	12.57	1	1,000	10,000	10,000,000	617.0000		(6,170,000,000.00) Client	Sell
11:57:49	\$ / R 11/12/2015	Foreign Exchange Future	С	12.57	1	1,000	10,000	10,000,000	617.0000		6,170,000,000.00 Member	Buy
12:04:18	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	300	300,000	12.7723		(3,831,690.00) Member	Sell
12:04:18	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	300	300,000	12.7723		3,831,690.00 Member	Buy
12:05:02	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	200	200,000	12.7681		(2,553,620.00) Member	Sell
12:05:02	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	200	200,000	12.7681		2,553,620.00 Member	Buy
12:07:09	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	200	200,000	12.9730		2,594,600.00 Member	Buy
12:07:09	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	200	200,000	12.9730		(2,594,600.00) Client	Sell
12:07:59	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.7708		(6,385,400.00) Member	Sell
12:07:59	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.7708		6,385,400.00 Member	Buy
12:07:59	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	75	75,000	12.7704		(957,780.00) Member	Sell
12:07:59	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	75	75,000	12.7704		957,780.00 Member	Buy
12:07:59	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	75	75,000	12.9740		973,050.00 Member	Buy
12:07:59	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	75	75,000	12.9740		(973,050.00) Client	Sell
12:11:39	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.9700		64,850.00 Member	Buy
12:12:02	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	12	12,000	12.9661		155,593.20 Member	Buy
12:12:02	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	12	12,000	12.9661		(155,593.20) Client	Sell

Page 4 of 15 2015/07/30, 07:17:19PM

Matched Time	Contract Details	Product	Call/ Strik Put	e No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
12:20:23	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	10	10,000	12.7723		127,723.00 Member	Buy
12:20:23	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	10	10,000	12.7723		(127,723.00) Client	Sell
12:20:58	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	8	8,000	12.7738		102,190.40 Member	Buy
12:20:58	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	8	8,000	12.7738		(102,190.40) Client	Sell
12:22:40	\$ / R 11/12/2015	Foreign Exchange Future		0.00 1	1,000	50	50,000	12.9825		649,125.00 Member	Buy
12:22:40	\$ / R 11/12/2015	Foreign Exchange Future		0.00 1	1,000	50	50,000	12.9825		(649,125.00) Client	Sell
12:26:05	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	10	10,000	12.7725		127,725.00 Client	Buy
12:26:05	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	10	10,000	12.7725		(127,725.00) Member	Sell
12:32:02	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	100	100,000	12.7690		(1,276,900.00) Client	Sell
12:32:02	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	100	100,000	12.7690		1,276,900.00 Member	Buy
12:34:07	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	900	900,000	12.7691		11,492,190.00 Member	Buy
12:34:07	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	900	900,000	12.7691		(11,492,190.00) Member	Sell
12:34:55	\$ / R 11/12/2015	Foreign Exchange Future		0.00 1	1,000	200	200,000	12.9720		2,594,400.00 Member	Buy
12:48:38	\$ / R 11/12/2015	Foreign Exchange Future		0.00 1	1,000	750	750,000	12.9905		9,742,875.00 Member	Buy
12:48:38	\$ / R 11/12/2015	Foreign Exchange Future		0.00 1	1,000	750	750,000	12.9905		(9,742,875.00) Member	Sell
12:49:29	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	30	30,000	12.7840		383,520.00 Client	Buy
12:49:29	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	30	30,000	12.7840		(383,520.00) Member	Sell
12:52:37	\$ / R 14/03/2016	Foreign Exchange Future	C 1	3.55 1	1,000	2,000	2,000,000	445.5000		891,000,000.00 Client	Buy
12:52:37	\$ / R 14/03/2016	Foreign Exchange Future	P 1	1.60 1	1,000	5,000	5,000,000	81.3000		(406,500,000.00) Client	Sell
12:52:37	\$ / R 14/03/2016	Foreign Exchange Future	P 1	2.00 1	1,000	5,000	5,000,000	147.7000		738,500,000.00 Client	Buy
12:52:37	\$ / R 14/03/2016	Foreign Exchange Future	C 1	2.55 1	1,000	2,000	2,000,000	858.5000		(1,717,000,000.00) Client	Sell
13:00:27	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	50	50,000	12.7852		639,260.00 Member	Buy
13:01:39	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	10	10,000	12.7900		127,900.00 Member	Buy
13:04:12	\$ / R 11/12/2015	Foreign Exchange Future		0.00 1	1,000	500	500,000	12.9965		6,498,250.00 Member	Buy
13:04:12	\$ / R 11/12/2015	Foreign Exchange Future		0.00 1	1,000	500	500,000	12.9965		(6,498,250.00) Member	Sell
13:09:36	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	5	5,000	12.7909		63,954.50 Client	Buy
13:09:36	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	5	5,000	12.7909		(63,954.50) Member	Sell
13:15:57	\$ / R 11/12/2015	Foreign Exchange Future		0.00 1	1,000	100	100,000	12.9970		1,299,700.00 Member	Buy
13:15:57	\$ / R 11/12/2015	Foreign Exchange Future		0.00 1	1,000	100	100,000	12.9970		(1,299,700.00) Client	Sell
13:17:01	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	50	50,000	12.7894		639,470.00 Member	Buy
13:17:12	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	50	50,000	12.7894		(639,470.00) Client	Sell
13:23:15	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	10	10,000	12.7797		(127,797.00) Client	Sell
13:23:15	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	10	10,000	12.7797		127,797.00 Member	Buy
13:31:35	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	2	2,000	12.7800		(25,560.00) Client	Sell
13:31:35	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	2	2,000	12.7800		25,560.00 Member	Buy
13:33:50	\$ / R 13/06/2016	Foreign Exchange Future		0.00 1	1,000	5,000	5,000,000	13.4100		(67,050,000.00) Client	Sell
13:33:50	\$ / R 13/06/2016	Foreign Exchange Future		0.00 1	1,000	5,000	5,000,000	13.4100		67,050,000.00 Member	Buy
13:35:38	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	900	900,000	12.7768		11,499,120.00 Member	Buy
13:35:38	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	900	900,000	12.7768		(11,499,120.00) Member	Sell
13:40:58	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	10	10,000	12.7800		(127,800.00) Client	Sell
13:40:58	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	10	10,000	12.7800		127,800.00 Member	Buy
13:41:00	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	1	1,000	12.7800		(12,780.00) Client	Sell
13:41:00	\$ / R 14/09/2015	Foreign Exchange Future		0.00 1	1,000	1	1,000	12.7800		12,780.00 Member	Buy

Page 5 of 15 2015/07/30, 07:17:19PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
13:43:28	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.7775		1,277,750.00 Member	Buy
13:44:20	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	12.7775		(383,325.00) Client	Sell
13:44:20	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	12.7775		383,325.00 Member	Buy
14:02:11	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.7750		1,277,500.00 Member	Buy
14:02:11	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.7750		(1,277,500.00) Client	Sell
14:07:23	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7900		639,500.00 Client	Buy
14:07:23	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7900		(639,500.00) Client	Sell
14:08:55	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7900		127,900.00 Member	Buy
14:08:55	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7900		(127,900.00) Client	Sell
14:09:25	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	12.7896		(255,792.00) Client	Sell
14:09:25	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	12.7896		255,792.00 Member	Buy
14:09:34	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0000		65,000.00 Member	Buy
14:16:58	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0066		65,033.00 Client	Buy
14:16:58	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	95	95,000	13.0067		1,235,636.50 Client	Buy
14:16:58	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	95	95,000	13.0067		(1,235,636.50) Member	Sell
14:16:58	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.0066		(65,033.00) Member	Sell
14:16:58	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	85	85,000	12.8000		1,088,000.00 Member	Buy
14:16:58	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	12.7999		63,999.50 Member	Buy
14:16:58	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.8000		128,000.00 Member	Buy
14:16:58	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	12.7999		(63,999.50) Client	Sell
14:18:30	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.8000		(25,600.00) Client	Sell
14:18:30	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.8000		25,600.00 Member	Buy
14:18:30	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	12.8000		192,000.00 Member	Buy
14:18:30	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.8000		(1,280,000.00) Client	Sell
14:20:46	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.8031		128,031.00 Client	Buy
14:20:46	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.8031		(128,031.00) Member	Sell
14:21:37	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.7993		(25,598.60) Client	Sell
14:21:37	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.7993		25,598.60 Member	Buy
14:22:37	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.8051		(25,610.20) Client	Sell
14:22:37	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.8051		25,610.20 Member	Buy
14:23:51	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	12.8036		320,090.00 Member	Buy
14:23:51	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	12.8036		(320,090.00) Client	Sell
14:24:28	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.8100		128,100.00 Client	Buy
14:26:42	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.2186		6,609,300.00 Member	Buy
14:26:42	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.2186		(6,609,300.00) Member	Sell
14:26:58	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	12.8030		320,075.00 Member	Buy
14:26:58	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	12.8030		(320,075.00) Client	Sell
14:27:04	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.8045		11,524,050.00 Member	Buy
14:27:04	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.8045		(11,524,050.00) Member	Sell
14:28:14	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0079		1,300,790.00 Member	Buy
14:28:14	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.0079		(1,300,790.00) Member	Sell
14:28:14	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.8011		1,280,110.00 Member	Buy
14:28:14	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.8011		(1,280,110.00) Member	Sell

Page 6 of 15 2015/07/30, 07:17:19PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
14:30:03	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7824		(127,824.00) Client	Sell
14:30:03	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.7824		127,824.00 Member	Buy
14:30:11	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	300	300,000	12.8064		3,841,920.00 Member	Buy
14:30:11	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	12.8076		2,561,520.00 Member	Buy
14:30:11	\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.4387		6,719,350.00 Member	Buy
14:30:11	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.0124		6,506,200.00 Member	Buy
14:30:11	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	350	350,000	13.0124		4,554,340.00 Member	Buy
14:30:11	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.2205		6,610,250.00 Member	Buy
14:30:11	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.2205		3,966,150.00 Member	Buy
14:30:11	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	13.2205		(3,966,150.00) Member	Sell
14:30:11	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.2205		(6,610,250.00) Member	Sell
14:30:11	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	350	350,000	13.0124		(4,554,340.00) Member	Sell
14:30:11	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.0124		(6,506,200.00) Member	Sell
14:30:11	\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.4387		(6,719,350.00) Member	Sell
14:30:11	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	12.8076		(2,561,520.00) Member	Sell
14:30:11	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	300	300,000	12.8064		(3,841,920.00) Member	Sell
14:30:12	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.8149		11,533,410.00 Member	Buy
14:30:12	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.8149		(11,533,410.00) Member	Sell
14:30:26	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.8245		128,245.00 Member	Buy
14:30:26	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.8245		(128,245.00) Client	Sell
14:30:28	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.8182		6,409,100.00 Member	Buy
14:30:49	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.8378		128,378.00 Member	Buy
14:30:49	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.8013		(1,280,130.00) Client	Sell
14:31:27	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.8112		(6,405,600.00) Client	Sell
14:31:27	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7482		637,410.00 Member	Buy
14:31:32	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.8393		(641,965.00) Member	Sell
14:32:09	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.8393		641,965.00 Client	Buy
14:32:27	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	12.8178		3,204,450.00 Member	Buy
14:33:20	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	12.8160		3,204,000.00 Member	Buy
14:33:20	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	12.8160		(3,204,000.00) Client	Sell
14:33:44	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.8205		6,410,250.00 Member	Buy
14:33:44	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.8205		(6,410,250.00) Client	Sell
14:35:05	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	12.8191		(38,457.30) Member	Sell
14:35:05	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	12.8191		38,457.30 Client	Buy
14:39:15	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.2296		(6,614,800.00) Member	Sell
14:39:15	\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.4462		(6,723,100.00) Member	Sell
14:39:15	\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.4462		6,723,100.00 Member	Buy
14:39:15	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.8105		6,405,250.00 Member	Buy
14:39:15	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.8105		(6,405,250.00) Member	Sell
14:39:15	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.2296		6,614,800.00 Member	Buy
14:39:20	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	12.8116		(256,232.00) Client	Sell
14:39:20	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	12.8116		256,232.00 Member	Buy
14:39:46	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.8103		1,281,030.00 Member	Buy

Page 7 of 15 2015/07/30, 07:17:19PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
14:39:46	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.8103		(1,281,030.00) Client	Sell
14:41:35	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.2430		6,621,500.00 Member	Buy
14:41:35	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.2430		(6,621,500.00) Member	Sell
14:43:10	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.8205		25,641.00 Member	Buy
14:43:31	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.8205		(25,641.00) Client	Sell
14:44:57	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.8077		11,526,930.00 Member	Buy
14:44:57	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.8077		(11,526,930.00) Member	Sell
14:45:29	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.8000		128,000.00 Client	Buy
14:45:29	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.8000		(128,000.00) Member	Sell
14:45:56	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.8000		640,000.00 Member	Buy
14:45:56	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.8000		(640,000.00) Client	Sell
14:47:16	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.8172		25,634.40 Member	Buy
14:47:16	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.8172		(25,634.40) Client	Sell
14:48:07	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	12.8215		(384,645.00) Member	Sell
14:48:07	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	12.8215		384,645.00 Client	Buy
14:50:12	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.8040		(1,280,400.00) Client	Sell
14:50:12	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.8040		1,280,400.00 Member	Buy
14:51:47	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	6	6,000	12.8125		(76,875.00) Member	Sell
14:51:47	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	6	6,000	12.8125		76,875.00 Client	Buy
14:52:31	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	12.8095		192,142.50 Client	Buy
14:52:31	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	12.8095		(192,142.50) Member	Sell
14:52:42	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0105		130,105.00 Member	Buy
14:52:42	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.0105		(130,105.00) Client	Sell
14:55:06	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.8080		(6,404,000.00) Client	Sell
14:55:06	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.8080		6,404,000.00 Member	Buy
14:55:24	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.8050		(128,050.00) Client	Sell
14:55:24	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.8050		128,050.00 Member	Buy
14:55:41	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	12.8050		(256,100.00) Client	Sell
14:55:41	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	20	20,000	12.8050		256,100.00 Member	Buy
14:57:37	\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.4437		(6,721,850.00) Member	Sell
14:57:37	\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.4437		6,721,850.00 Member	Buy
15:06:27	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	5,000	5,000,000	12.8203		(64,101,500.00) Member	Sell
15:06:27	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	5,000	5,000,000	12.8203		64,101,500.00 Client	Buy
15:11:41	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	380	380,000	12.8136		(4,869,168.00) Member	Sell
15:11:41	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	380	380,000	12.8136		4,869,168.00 Member	Buy
15:16:04	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	51	51,000	12.8237		(654,008.70) Client	Sell
15:16:04	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	51	51,000	12.8237		654,008.70 Member	Buy
15:17:37	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.8294		(1,282,940.00) Client	Sell
15:17:37	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.8294		1,282,940.00 Member	Buy
15:21:24	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.8258		11,543,220.00 Member	Buy
15:21:24	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	12.8258		(11,543,220.00) Member	Sell
15:21:26	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	400	400,000	12.8244		5,129,760.00 Member	Buy
15:21:26	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	400	400,000	12.8244		(5,129,760.00) Member	Sell

Page 8 of 15 2015/07/30, 07:17:19PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
15:27:47	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	400	400,000	12.8233		(5,129,320.00) Client	Sell
15:27:47	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	400	400,000	12.8233		5,129,320.00 Member	Buy
15:29:20	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	40	40,000	13.0328		521,312.00 Member	Buy
15:29:20	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	40	40,000	13.0328		(521,312.00) Member	Sell
15:39:40	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	900	900,000	12.8278		11,545,020.00 Member	Buy
15:39:40	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	900	900,000	12.8278		(11,545,020.00) Member	Sell
15:41:02	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	4	4,000	12.8203		51,281.20 Member	Buy
15:41:02	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	4	4,000	12.8203		(51,281.20) Client	Sell
15:48:23	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	12.8097		(256,194.00) Client	Sell
15:48:23	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	12.8097		256,194.00 Member	Buy
15:49:15	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.8081		(6,404,050.00) Client	Sell
15:49:15	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	12.8081		6,404,050.00 Member	Buy
15:54:44	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.8133		(128,133.00) Client	Sell
15:54:44	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	12.8133		128,133.00 Member	Buy
15:56:22	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.8121		(1,281,210.00) Client	Sell
15:56:22	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.8121		1,281,210.00 Member	Buy
15:57:49	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.0152		(13,015,200.00) Member	Sell
15:59:56	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.7969		(63,984.50) Client	Sell
15:59:56	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.7969		63,984.50 Member	Buy
16:00:15	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	10,000	10,000,000	12.8239		128,239,000.00 Member	Buy
16:01:00	\$ / R 14/09/2015	Foreign Exchange Future	С	12.70	1	1,000	4,810	4,810,000	311.5000		(1,498,315,000.00) Member	Sell
16:01:00	\$ / R 14/09/2015	Foreign Exchange Future	С	12.70	1	1,000	4,810	4,810,000	311.5000		1,498,315,000.00 Client	Buy
16:06:56	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	13.0152		13,015,200.00 Client	Buy
16:10:05	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	30	30,000	12.8229		(384,687.00) Member	Sell
16:10:05	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	30	30,000	12.8229		384,687.00 Client	Buy
16:15:35	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.8218		64,109.00 Member	Buy
16:15:35	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	12.8218		(64,109.00) Client	Sell
16:24:26	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	2,000	2,000,000	12.7533		25,506,600.00 Client	Buy
16:25:01	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.7775		(1,277,750.00) Client	Sell
16:25:26	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	12.8400		642,000.00 Member	Buy
16:25:26	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	14	14,000	12.8395		179,753.00 Member	Buy
16:25:26	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	14	14,000	12.8395		(179,753.00) Client	Sell
16:25:26	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	12.8400		(642,000.00) Client	Sell
16:25:36	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.0480		65,240.00 Member	Buy
16:42:36	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.0300		651,500.00 Member	Buy
16:42:36	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	13.0300		(651,500.00) Client	Sell
16:43:05	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	673	673,000	12.8239		(8,630,484.70) Client	Sell
16:43:05	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	4,466	4,466,000	12.8239		(57,271,537.40) Client	Sell
16:43:05	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	3,197	3,197,000	12.8239		(40,998,008.30) Client	Sell
16:43:05	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	293	293,000	12.8239		(3,757,402.70) Client	Sell
16:43:05	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	1,371	1,371,000	12.8239		(17,581,566.90) Client	Sell
16:51:31	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	12.8355		256,710.00 Member	Buy
16:51:50	\$ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	12.8374		1,283,740.00 Member	Buy

Page 9 of 15 2015/07/30, 07:17:19PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:51:50	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	12.8374		(1,283,740.00) Client	Sell
16:52:42	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.0499		978,742.50 Member	Buy
16:52:42	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	75	75,000	13.0499		(978,742.50) Client	Sell
16:52:52	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.0500		(3,262,500.00) Client	Sell
16:52:52	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.0500		3,262,500.00 Member	Buy
16:53:13	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.8500		642,500.00 Member	Buy
16:53:13	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.8500		642,500.00 Member	Buy
16:53:13	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.8500		128,500.00 Member	Buy
16:53:13	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.8500		(642,500.00) Client	Sell
16:53:13	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.8500		(642,500.00) Client	Sell
16:56:05	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	300	300,000	12.8442		(3,853,260.00) Client	Sell
16:56:05	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	300	300,000	12.8442		3,853,260.00 Member	Buy
16:57:06	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	12.8419		(2,568,380.00) Client	Sell
16:57:06	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	12.8419		2,568,380.00 Member	Buy
16:57:59	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.8400		(128,400.00) Client	Sell
16:57:59	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	12.8400		128,400.00 Member	Buy
16:58:54	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	12.9864		25,972,800.00 Member	Buy
16:58:54	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	12.9864		(25,972,800.00) Client	Sell
17:12:47	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.8242		6,412,100.00 Member	Buy
17:15:31	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.8356		25,671.20 Member	Buy
17:15:31	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	12.8356		(25,671.20) Client	Sell
17:25:51	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7742		638,710.00 Member	Buy
17:25:51	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.8192		(6,409,600.00) Client	Sell
17:27:33	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	550	550,000	12.8369		7,060,295.00 Member	Buy
17:29:59	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.7869		639,345.00 Member	Buy
17:29:59	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	12.8319		(6,415,950.00) Client	Sell
17:30:11	\$ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	12.8369		(641,845.00) Client	Sell
Total Futu	res			190		74,770	74,770,000			962 544 106.20	
Total Opti	ons			5		26,810	26,810,000			0.00	
Total for \$	/ R Foreign Exchange	e Future		195		101,580	101,580,000		1	13,617,359,106.20	
9:10:12	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	7	700,000	12.7212		(8,904,840.00) Member	Sell
9:10:12	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	7	700,000	12.7212		8,904,840.00 Member	Buy
9:10:12	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	7	700,000	12.9262		9,048,340.00 Member	Buy
9:10:12	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	7	700,000	12.9262		(9,048,340.00) Member	Sell
9:23:01	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	12.7242		(6,362,100.00) Member	Sell
9:23:01	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	12.7242		6,362,100.00 Member	Buy
9:31:28	\$ / R MAXI 14/09/2015	-	0.00	1	100,000	9	900,000	12.7261		11,453,490.00 Member	Buy
9:31:28	\$ / R MAXI 14/09/2015	•	0.00	1	100,000	9	900,000	12.7261		(11,453,490.00) Member	Sell
9:48:39	\$ / R MAXI 14/09/2015	-	0.00	1	100,000	9	900,000	12.7249		11,452,410.00 Member	Buy
9:48:39	\$ / R MAXI 14/09/2015	•	0.00	1	100,000	9	900,000	12.7249		(11,452,410.00) Member	Sell
9:49:14	\$ / R MAXI 14/09/2015	-	0.00	1	100,000	9	900,000	12.7277		11,454,930.00 Member	Buy
		· -									-

Page 10 of 15 2015/07/30, 07:17:19PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:49:14	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7277		(11,454,930.00) Member	Sell
10:00:06	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7227		(11,450,430.00) Member	Sell
10:00:06	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7227		11,450,430.00 Member	Buy
10:02:55	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7239		11,451,510.00 Member	Buy
10:02:55	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7239		(11,451,510.00) Member	Sell
11:37:56	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7676		11,490,840.00 Member	Buy
11:37:56	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7676		(11,490,840.00) Member	Sell
11:41:00	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7634		11,487,060.00 Member	Buy
11:41:00	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7634		(11,487,060.00) Member	Sell
11:41:52	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	12.7793		(6,389,650.00) Member	Sell
11:41:52	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	4	400,000	12.7796		(5,111,840.00) Member	Sell
11:41:52	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	12.7793		6,389,650.00 Member	Buy
11:41:52	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	4	400,000	12.7796		5,111,840.00 Member	Buy
11:42:45	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	12.7800		1,278,000.00 Member	Buy
11:42:45	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	12.7800		(1,278,000.00) Client	Sell
11:47:54	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7758		11,498,220.00 Member	Buy
11:47:54	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7758		(11,498,220.00) Member	Sell
12:07:59	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7708		11,493,720.00 Member	Buy
12:07:59	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7708		(11,493,720.00) Member	Sell
12:39:08	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	12.7707		6,385,350.00 Member	Buy
12:39:08	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	12.7707		(6,385,350.00) Member	Sell
12:39:39	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	12.7707		6,385,350.00 Member	Buy
12:39:39	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	12.7707		(6,385,350.00) Member	Sell
12:41:49	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7717		11,494,530.00 Member	Buy
12:41:49	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7717		(11,494,530.00) Member	Sell
12:42:10	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7732		11,495,880.00 Member	Buy
12:42:10	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	7	700,000	12.9783		9,084,810.00 Member	Buy
12:42:10	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	9	900,000	13.1916		11,872,440.00 Member	Buy
12:42:10	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	9	900,000	13.1916		(11,872,440.00) Member	Sell
12:42:10	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	7	700,000	12.9783		(9,084,810.00) Member	Sell
12:42:10	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7732		(11,495,880.00) Member	Sell
12:42:10	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7732		11,495,880.00 Member	Buy
12:42:10	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7732		(11,495,880.00) Member	Sell
12:48:38	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	7	700,000	12.9890		9,092,300.00 Member	Buy
12:48:38	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	9	900,000	13.2029		11,882,610.00 Member	Buy
12:48:38	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	9	900,000	13.2029		(11,882,610.00) Member	Sell
12:48:38	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	7	700,000	12.9890		(9,092,300.00) Member	Sell
12:48:38	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7843		(11,505,870.00) Member	Sell
12:48:38	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	12.7843		11,505,870.00 Member	Buy
12:50:06	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	12.7900		1,279,000.00 Member	Buy
12:50:06	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	12.7900		(1,279,000.00) Client	Sell
13:04:12	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.2112		1,321,120.00 Member	Buy
13:04:12	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	12.7926		1,279,260.00 Member	Buy

Page 11 of 15 2015/07/30, 07:17:19PM

13:04:12 \$ / R MAXI 1 13:20:26 \$ / R MAXI 1 13:36:45 \$ / R MAXI 1 13:36:45 \$ / R MAXI 1 13:45:29 \$ / R MAXI 1 14:28:34 \$ / R MAXI 1 14:28:35 \$ / R MAXI 1 14:28:35 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1	Contract Details	t Details Produc	t	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
13:04:12	\$ / R MAXI 11/12/2015	XI 11/12/2015 Foreign	Exchange Future		0.00	1	100,000	3	300,000	12.9965		3,898,950.00 Member	Buy
13:04:12	\$ / R MAXI 11/12/2015	XI 11/12/2015 Foreign	Exchange Future		0.00	1	100,000	3	300,000	12.9965		(3,898,950.00) Member	Sell
13:04:12	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	1	100,000	12.7926		(1,279,260.00) Member	Sell
13:04:12	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	1	100,000	12.7926		(1,279,260.00) Member	Sell
13:20:26	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	1	100,000	12.7926		1,279,260.00 Member	Buy
13:20:26	\$ / R MAXI 14/03/2016	XI 14/03/2016 Foreign	Exchange Future		0.00	1	100,000	1	100,000	13.2112		(1,321,120.00) Member	Sell
13:36:45	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	9	900,000	12.7853		(11,506,770.00) Member	Sell
13:36:45	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	9	900,000	12.7853		11,506,770.00 Member	Buy
13:45:29 \$ / R MAXI 1 13:45:29 \$ / R MAXI 1 13:48:34 \$ / R MAXI 1 13:59:26 \$ / R MAXI 1 13:59:26 \$ / R MAXI 1 13:59:26 \$ / R MAXI 1 14:18:30 \$ / R MAXI 1 14:26:42 \$ / R MAXI 1 14:26:42 \$ / R MAXI 1 14:28:35 \$ / R MAXI 1 14:28:35 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:43 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	1	100,000	12.7764		(1,277,640.00) Member	Sell
13:45:29 \$ / R MAXI 1 13:48:34 \$ / R MAXI 1 13:59:26 \$ / R MAXI 1 13:59:26 \$ / R MAXI 1 13:59:26 \$ / R MAXI 1 14:18:30 \$ / R MAXI 1 14:26:42 \$ / R MAXI 1 14:26:42 \$ / R MAXI 1 14:28:35 \$ / R MAXI 1 14:28:45 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:44 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	1	100,000	12.7764		1,277,640.00 Member	Buy
13:48:34	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	9	900,000	12.7775		(11,499,750.00) Member	Sell
13:48:34	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	9	900,000	12.7775		11,499,750.00 Member	Buy
13:59:26 \$ / R MAXI 1 13:59:26 \$ / R MAXI 1 14:18:30 \$ / R MAXI 1 14:18:30 \$ / R MAXI 1 14:26:42 \$ / R MAXI 1 14:26:42 \$ / R MAXI 1 14:28:35 \$ / R MAXI 1 14:28:35 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	9	900,000	12.7753		11,497,770.00 Member	Buy
13:59:26	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	9	900,000	12.7753		(11,497,770.00) Member	Sell
14:18:30 \$ / R MAXI 1 14:18:30 \$ / R MAXI 1 14:26:42 \$ / R MAXI 1 14:26:42 \$ / R MAXI 1 14:28:35 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	1	100,000	12.7775		1,277,750.00 Member	Buy
14:18:30 \$ / R MAXI 1 14:26:42 \$ / R MAXI 1 14:26:42 \$ / R MAXI 1 14:28:35 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	1	100,000	12.7775		(1,277,750.00) Member	Sell
14:26:42 \$ / R MAXI 1 14:26:42 \$ / R MAXI 1 14:28:35 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	1	100,000	12.8000		1,280,000.00 Member	Buy
14:26:42 \$ / R MAXI 1 14:28:35 \$ / R MAXI 1 14:28:35 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	1	100,000	12.8000		(1,280,000.00) Client	Sell
14:28:35 \$ / R MAXI 1 14:28:35 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 14/03/2016	XI 14/03/2016 Foreign	Exchange Future		0.00	1	100,000	5	500,000	13.2186		6,609,300.00 Member	Buy
14:28:35 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 14/03/2016	XI 14/03/2016 Foreign	Exchange Future		0.00	1	100,000	5	500,000	13.2186		(6,609,300.00) Member	Sell
14:28:42 \$ / R MAXI 1 14:28:42 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	9	900,000	12.7978		(11,518,020.00) Member	Sell
14:28:42 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:28:48 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	9	900,000	12.7978		11,518,020.00 Member	Buy
14:28:48	\$ / R MAXI 11/12/2015	XI 11/12/2015 Foreign	Exchange Future		0.00	1	100,000	7	700,000	13.0086		9,106,020.00 Member	Buy
14:28:48	\$ / R MAXI 11/12/2015	XI 11/12/2015 Foreign	Exchange Future		0.00	1	100,000	7	700,000	13.0086		(9,106,020.00) Member	Sell
14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 11/12/2015	XI 11/12/2015 Foreign	Exchange Future		0.00	1	100,000	2	200,000	13.0077		2,601,540.00 Member	Buy
14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 11/12/2015	XI 11/12/2015 Foreign	Exchange Future		0.00	1	100,000	2	200,000	13.0077		(2,601,540.00) Member	Sell
14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	5	500,000	12.8059		6,402,950.00 Member	Buy
14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 11/12/2015	XI 11/12/2015 Foreign	Exchange Future		0.00	1	100,000	5	500,000	13.0124		6,506,200.00 Member	Buy
14:30:11	\$ / R MAXI 11/12/2015	XI 11/12/2015 Foreign	Exchange Future		0.00	1	100,000	5	500,000	13.0124		6,506,200.00 Member	Buy
14:30:11 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 14/03/2016	XI 14/03/2016 Foreign	Exchange Future		0.00	1	100,000	5	500,000	13.2205		6,610,250.00 Member	Buy
14:30:11 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 14/03/2016	XI 14/03/2016 Foreign	Exchange Future		0.00	1	100,000	5	500,000	13.2205		(6,610,250.00) Member	Sell
14:30:11 \$ / R MAXI 1 14:30:11 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 11/12/2015	XI 11/12/2015 Foreign	Exchange Future		0.00	1	100,000	5	500,000	13.0124		(6,506,200.00) Member	Sell
14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 11/12/2015	XI 11/12/2015 Foreign	Exchange Future		0.00	1	100,000	5	500,000	13.0124		(6,506,200.00) Member	Sell
14:34:40 \$ / R MAXI 1 14:34:40 \$ / R MAXI 1	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	5	500,000	12.8059		(6,402,950.00) Member	Sell
14:34:40 \$ / R MAXI 1	\$ / R MAXI 14/09/2015	XI 14/09/2015 Foreign	Exchange Future		0.00	1	100,000	1	100,000	12.8128		(1,281,280.00) Member	Sell
14:34:40 \$ / R MAXI 1	\$ / R MAXI 11/12/2015	· ·	Exchange Future		0.00	1	100,000	7	700,000	13.0202		(9,114,140.00) Member	Sell
	\$ / R MAXI 11/12/2015	•	Exchange Future		0.00	1	100,000	7	700,000	13.0202		9,114,140.00 Member	Buy
•	\$ / R MAXI 14/09/2015	_	Exchange Future		0.00	1	100,000	1	100,000	12.8128		1,281,280.00 Member	Buy
14:36:59 \$ / R MAXI 1	\$ / R MAXI 11/12/2015	=	Exchange Future		0.00	1	100,000	5	500,000	13.0387		6,519,350.00 Member	Buy
	\$ / R MAXI 11/12/2015	_	Exchange Future		0.00	1	100,000	5	500,000	13.0387		(6,519,350.00) Member	Sell
	\$ / R MAXI 14/03/2016	•	Exchange Future		0.00	1	100,000	5	500,000	13.2293		6,614,650.00 Member	Buy
	\$ / R MAXI 14/03/2016	· ·	Exchange Future		0.00	1	100,000	5	500,000	13.2293		(6,614,650.00) Member	Sell
	\$ / R MAXI 14/03/2016	•	Exchange Future		0.00	1	100,000	9	900,000	13.2441		11,919,690.00 Member	Buy

Page 12 of 15 2015/07/30, 07:17:19PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Pre Rate	mium Value Trade Type	Buy/ Sell
14:41:40	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.0	0 1	100,000	9	900,000	12.8221	(1	1,539,890.00) Membe	er Sell
14:41:40	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.0	0 1	100,000	9	900,000	12.8221	1	1,539,890.00 Membe	er Buy
14:41:40	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.0	0 1	100,000	9	900,000	13.2441	(1	1,919,690.00) Membe	er Sell
14:41:49	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.0	0 1	100,000	9	900,000	13.0198	(1	1,717,820.00) Membe	er Sell
14:41:49	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.0	0 1	100,000	9	900,000	12.8148	1	1,533,320.00 Membe	er Buy
14:41:49	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.0	0 1	100,000	9	900,000	12.8148	(1	1,533,320.00) Membe	er Sell
14:41:49	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.0	0 1	100,000	9	900,000	13.0198	1	1,717,820.00 Membe	er Buy
15:09:53	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.0	0 1	100,000	6	600,000	13.2363	(7,941,780.00) Membe	er Sell
15:09:53	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.0	0 1	100,000	6	600,000	13.2363		7,941,780.00 Membe	er Buy
16:46:00	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.0	0 1	100,000	1	100,000	12.8300		1,283,000.00 Membe	er Buy
16:46:00	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.0	0 1	100,000	1	100,000	12.8300	(1,283,000.00) Client	Sell
16:53:13	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.0	0 1	100,000	1	100,000	12.8500		1,285,000.00 Membe	er Buy
16:53:13	\$ / R MAXI 14/09/2015	Foreign Exchange Future	0.0		100,000	1	100,000	12.8500		1,285,000.00) Client	Sell
Total Futu	res			55		330	33,000,000		42	5 030 070.00	
Total Opti	ons										
Total for \$	/ R MAXI Foreign Excl	hange Future		55		330	33,000,000		42	5,030,070.00	
9:33:01	£ / R 14/09/2015	Foreign Exchange Future	0.0	0 1	1,000	50	50,000	19.8604		(993,020.00) Client	Sell
9:33:01	£ / R 14/09/2015	Foreign Exchange Future	0.0	0 1	1,000	50	50,000	19.8604		993,020.00 Member	er Buy
11:53:32	£ / R 11/12/2015	Foreign Exchange Future	0.0	0 1	1,000	100	100,000	20.2384		2,023,840.00 Membe	er Buy
11:54:19	£/R 11/12/2015	Foreign Exchange Future	0.0	0 1	1,000	100	100,000	20.2384		2,023,840.00 Membe	er Buy
11:55:45	£/R 11/12/2015	Foreign Exchange Future	0.0	0 1	1,000	50	50,000	20.2352		1,011,760.00 Membe	er Buy
11:55:57	£ / R 14/09/2015	Foreign Exchange Future	0.0	0 1	1,000	30	30,000	19.9206		597,618.00 Member	er Buy
11:55:57	£ / R 14/09/2015	Foreign Exchange Future	0.0	0 1	1,000	30	30,000	19.9206		(597,618.00) Client	Sell
11:56:24	£ / R 11/12/2015	Foreign Exchange Future	0.0	0 1	1,000	50	50,000	20.2352		1,011,760.00 Membe	er Buy
12:23:21	£ / R 14/09/2015	Foreign Exchange Future	0.0	0 1	1,000	1	1,000	19.9340		19,934.00 Membe	
12:23:21	£ / R 14/09/2015	Foreign Exchange Future	0.0	0 1	1,000	1	1,000	19.9340		(19,934.00) Client	Sell
14:32:29	£ / R 14/09/2015	Foreign Exchange Future	0.0	0 1	1,000	500	500,000	20.0227	1	0,011,350.00 Membe	er Buy
14:32:29	£ / R 14/09/2015	Foreign Exchange Future	0.0	0 1	1,000	250	250,000	20.0212		5,005,300.00 Membe	
14:34:04	£ / R 14/09/2015	Foreign Exchange Future	0.0	0 1	1,000	250	250,000	20.0000		5,000,000.00 Membe	
14:34:17	£ / R 14/09/2015	Foreign Exchange Future	0.0		1,000	500	500,000	19.9900		9,995,000.00 Membe	•
14:34:17	£ / R 14/09/2015	Foreign Exchange Future	0.0		1,000	250	250,000	19.9900		4,997,500.00 Membe	•
14:34:17	£ / R 14/09/2015	Foreign Exchange Future	0.0		1,000	65	65,000	19.9900		1,299,350.00 Membe	•
14:39:15	£ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	200	200,000	20.3209		4,064,180.00 Membe	•
14:39:15	£ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	200	200,000	20.3209		4,064,180.00) Membe	
14:43:24	£ / R 14/09/2015	Foreign Exchange Future	0.0		1,000	25	25,000	20.0046	· ·	(500,115.00) Client	Sell
14:43:24	£ / R 14/09/2015	Foreign Exchange Future	0.0		1,000	50	50,000	20.0046	(1,000,230.00) Client	Sell
14:43:24	£ / R 14/09/2015	Foreign Exchange Future	0.0		1,000	100	100,000	20.0046		2,000,460.00) Client	Sell
14:43:24	£ / R 14/09/2015	Foreign Exchange Future	0.0		1,000	150	150,000	20.0046		3,000,690.00) Client	Sell
14:43:24	£ / R 14/09/2015	Foreign Exchange Future	0.0		1,000	30	30,000	20.0046	`	(600,138.00) Client	Sell
14:43:24	£ / R 14/09/2015	Foreign Exchange Future	0.0		1,000	50	50,000	20.0046	(1,000,230.00) Client	Sell
14:43:24	£ / R 14/09/2015	Foreign Exchange Future	0.0		1,000	50	50,000	20.0046		1,000,230.00) Client	Sell
. 7. 70. 27	~/ IX 17/00/2010	. Stolgil Exchange i didle	0.0		1,000	30	30,000	20.0070	(1,000,200.00) Olient	OGII

Page 13 of 15 2015/07/30, 07:17:19PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
14:43:24	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	20.0046		(2,000,460.00) Client	Sell
14:43:24	£/R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	20.0046		(500,115.00) Client	Sell
14:43:24	£/R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	20.0046		(1,000,230.00) Client	Sell
14:43:24	£/R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	20.0046		(500,115.00) Client	Sell
14:43:24	£/R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	20.0046		(500,115.00) Client	Sell
14:43:24	£/R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	20.0046		(1,000,230.00) Client	Sell
14:43:24	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	20.0046		(1,000,230.00) Client	Sell
14:43:24	£/R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	20.0046		(1,000,230.00) Client	Sell
14:43:24	£/R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	20.0046		(1,000,230.00) Client	Sell
14:43:24	£/R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	20.0046		(1,000,230.00) Client	Sell
14:43:24	£/R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	20.0046		(500,115.00) Client	Sell
14:43:24	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	20.0046		(2,000,460.00) Client	Sell
14:43:25	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	20.0046		(2,000,460.00) Client	Sell
14:43:25	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	20.0046		(600,138.00) Client	Sell
14:43:25	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	20.0046		(1,000,230.00) Client	Sell
14:43:25	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	20.0046		(2,000,460.00) Client	Sell
14:43:25	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	20.0046		(2,000,460.00) Client	Sell
14:43:25	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	20.0046		(2,000,460.00) Client	Sell
14:43:25	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	30	30,000	20.0046		(600,138.00) Client	Sell
14:43:25	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	20.0046		(1,000,230.00) Client	Sell
14:43:25	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	20.0046		(4,000,920.00) Client	Sell
14:46:16	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	20.3215		(4,064,300.00) Member	Sell
14:46:16	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	20.3215		4,064,300.00 Member	Buy
14:52:33	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	20.0000		(5,000,000.00) Client	Sell
14:52:33	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	20.0000		5,000,000.00 Member	Buy
15:08:48	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	20.0050		200,050.00 Member	Buy
15:08:48	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	20.0050		(200,050.00) Client	Sell
15:13:14	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	20.0220		200,220.00 Member	Buy
15:24:45	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	20.3309		508,272.50 Member	Buy
15:24:45	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	20.3309		(508,272.50) Client	Sell
16:45:20	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	20.0220		(60,066.00) Client	Sell
16:45:20	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	20.0220		(60,066.00) Client	Sell
16:45:20	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	20.0220		(40,044.00) Client	Sell
16:45:20	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	2	2,000	20.0220		(40,044.00) Client	Sell
16:59:00	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	20.0309		200,309.00 Member	Buy
16:59:00	£ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	20.0309		(200,309.00) Client	Sell
Total Futures			31		2,751	2,751,000			55 191 928.00		
Total Opti	ons										
Total for £	/ R Foreign Exchang	ge Future		31		2,751	2,751,000			55,191,928.00	
12:23:21	€ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	42	42,000	14.0175		588,735.00 Member	Buy
12:23:21	€ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	42	42,000	14.0175		(588,735.00) Client	Sell

Page 14 of 15 2015/07/30, 07:17:19PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
13:41:19	€ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.0053		140,053.00 Member	Buy
13:41:19	€ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.0053		(140,053.00) Client	Sell
14:30:12	€ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.0299		(7,014,950.00) Member	Sell
14:30:12	€ / R 14/09/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.0299		7,014,950.00 Member	Buy
14:30:12	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.2751		(7,137,550.00) Member	Sell
14:30:12	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.2751		7,137,550.00 Member	Buy
Total Futures				4		1,052	1,052,000			14 881 288.00	
Total Opti	ons										
Total for € / R Foreign Exchange Future			4		1,052	1,052,000			14,881,288.00		
16:59:52	NZ\$ / R 11/08/2015	Any day expiry	0.00	1	1,000	8,000	8,000,000	8.3900		(67,120,000.00) Member	Sell
16:59:52	NZ\$ / R 11/08/2015	Any day expiry	0.00	1	1,000	8,000	8,000,000	8.3900		67,120,000.00 Client	Buy
Total Futures				1		8,000	8,000,000			67 120 000.00	
Total Option	ons										
Total for NZ\$ / R Any day expiry				1		8,000	8,000,000			67,120,000.00	
Total Futures				281		86,903	119,573,000		1	524 767 392.20	
Total Options				5		26,810	26,810,000			0.00	
Grand Total for all Instruments				285		113,713	146,383,000		14	,179,582,392.20	